=M R LA BEREEUE KL
1. G -
1EABC th, ¢=10.a 5424 30°MB= ()
A.105° B 60° C 15° D, 105°8}] 15°

2. L

|G, gatatatata =450 qjo o gESETF ()
A.45B.75 C.300 D.180

3. IEFE
wo<a<b, IR FIAS S S IR B ()
A.a{bﬁﬁ{ﬁsz.a*{ﬁ«iﬁ;u{b

at+b

C'aeﬂ:ﬁ«:b«i 5 D‘Ja_bq:a«:ﬁz;uq:b

4. BB X
[cos%—sinr—z][cosr—z—k sinr—z] = )

51 5

1
A 2B 2C2D.?

5. -
CAONE=RRA, RS2 = ()
A. ﬁsun B. —ﬁsun (@& \Emsx D. —‘\IEL'US.I

6. IEFERR

*&9’%%§§Q§U{““}E‘Jﬁﬁ”ﬁﬁ$ﬂ, %a]=]’ /L\\_%ndz?" Sj._:—Sj.=35, ljlljic= ()
A5B.6,17.D\8

7. RS -

sy g il d, @=1 VA Hq=2, HSn=1278F, n= ()
AL B.7C.6 D.5

8. PR
SEEHH—3, 1, 5 .. HEISHHERZ O
A.40B.53C.63D. 76

9.

B By —sinGer 3 )0 BRI — SR B TR O

s Fid T

= = — X

"6 c 6D 6

r=—— x
A. 3 B.

10.
S 1 BB A R Ran=9-2n, B FFIEFehE S mTmE O




